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EHDHBEKRE
(BfLnFE:R)
100g DRICIEZE5KEHDKEY IN
EA IPa = IN /i
Im = cmX cm = cn
IN/mi = IN + Inf
= IN = 10000cn

O RDIEZRDES, =L, EE 100eDYHRICIEZ-oKENDKRESEINET B,
(1) BE 5002 DYRIZ (T =<EN

(2) EE 20eDYRICIE=<EN

(3) &2 1.5kg DMKIZIX=5<E A

(4)32NDEANIE=MMERDEE (ke)

(5)3000cm #m TXY

(6)EF& 0.12 MDMEIZ 60ND AM L=\ TNSDEZDIES

(7) % 0.25 MD@EIZ 20kgDMIEREDE-EEDE A

(8)FKIZ 150Pa MEANMA S, EEHE 0.2 mMOMKDEE (g)

(9)FRIZ 360Pa MEAMMIMND, KEFHE 0.09 mMDMADEE (ke)

(10)RIZDET=EEDEAH 2500Pa THD. 500D AN EEFE (enf )

ADEKRIZOEEZEDENH 200Pa ThHAH. 0.20kgDILFAD1DDEE(cm)



